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Question No. 1

e /\[
grafdaeT gfreror W fRar Srar &
| Exammix.com

JFor Competitive Fxams

A) YT HR B) fF #R

C) qof oIk D) 3ifF AR

Hopkinson's test is conducted at-

A) No load B) Low load
C) Full load D) Partload
Answer Key : C Your Response : A (Wrong)

Question No. 2

20-amp 9R9Y F fFdar JAAE (receptacles) & THd &7

A) 30 B) 40

C) 50 D) 10

How many receptacles can be on a 20-amp circuit?

A) 30 B) 40
C) 30 D) 10
Answer Key : D Your Response : D (Correct)

Question No. 3

9% 9hIT watE, S gehg aRuy #F Rt Afdse 9o #7 egeror 7@ = 8 3@
gl ST &

A) sl vatg B) deHIg gaTE

C) Feldd D) WelFd Yelcd
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The magnetic flux which does not follow the particularly intended path in a magnetic circuit is

called-
A) Leakage flux B) Magnetic flux
C) Flux D) Flux density
Answer Key : A Your Response : A (Correct)

Question No. 4
3ed decst DC HEROT (HVDC) & 39T Heaa: e faw fmar sar 82

A) IRETd F gfaErdy afed 6 3TaTHhdr A B) Fede] TUAT W EHEIAFT F Fo e
FHTCT el

C) HAW HAlAA Hdicd drell & Yonferdt & D) 3chieeh ol giRAT 9 348 Aferd FeRor
AGATSAT AT (Bulk power transmission)

High voltage DC (HVDC) transmission is mainly used for-

A) Eliminating reactive power requirement in B) Minimizing harmonics at the converter

the operation stations

C) Interconnecting two systems with the D) Bulk power transmission over very long

same nominal frequency distances

Answer Key : D Your Response : D (Correct)

Question No. 5

TAR@AF 3 (CuNOz), Frfaf@a & ¥ frad dora &2

A) FT (Il) AT B) #Iw (I) Algee
C) Fforrye A D) &HUX TSCISs

The chemical formula (CuNOg3), corresponds to-

A) Copper (ll) nitrate B) Copper (I) nitrate
C) Calcium nitrate D) Copper nitride
Answer Key : A Your Response : A (Correct)
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Queshon 0.6 Y Q P

AWG T qUT ¥ T §7?

A) THIAE arR AT (Ampacity Wire Gauge) B) 3R ar@x st (American Wire Gauge)

C) USF3Tel arX 3T (Actual Wire Gauge) D) tfFauc ar—R 357 (Ambient Wire Gauge)

AWG stands for-

A) Ampacity Wire Gauge B) American Wire Gauge

C) Actual Wire Gauge D) Ambient Wire Gauge
Answer Key : B Your Response : B (Correct)

Question No. 7

farfaf@a & & #la d@ DC aEfEr 872

A) 39T oIIX ArEfaar B) haereTel Telic argfaer

C) faerer olX argfsar D) o9 arsfser

Which of the following are DC windings?

A) Double layered winding B) Fractional slot winding
C) Single layered winding D) Lap winding
Answer Key : D Your Response : A (Wrong)

Question No. 8

HIV & 3o03f & fhed e@rr |aiRa gl T Fstigerr =1df &2

A) TI9TT Rl B) I&Fd - 3T cdiT

C) gs AT SRl 3TV ST it & D) #ToX & Flca &

HIV is not likely to be transmitted by which of the following?

A) Breast - feeding B) Blood transfusion
C) Sharing needles or injection equipment D) Mosquito bites
Answer Key : D Your Response : A (Wrong)
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Queshonvﬂo. g" Y Q P

DC &M= & aif r EaRT AT ST T 8l
A) e B) wsex
C) TAtAHRT D) alecHeX

The speed of a DC machine can be measured by a/an-

A) Tachometer B) Ammeter
C) Anemometer D) Voltmeter
Answer Key : A Your Response : A (Correct)

Question No. 10

HRT & fAaRor agait 7 aAeTa: &1 39T AT Srar §1
A) RCC & @t B) oihd) & @ait
C) ®d & Tla’l D) @ & @Al

Distribution lines in India generally use-

A) RCC poles B) Wooden poles
C) Steel tower D) Iron poles
Answer Key : A Your Response : A (Correct)

Question No. 11

T 20 HiT OE d AR F IPRY FIe # aEwd 1 A2 3R afeRer 4 e 71 ar #
HTelehel AT H|

A) 4 MS/m B) 5 MS/m

C) 12 MS/m D) 10 MS/m

A 20 metre length of cable has a cross-sectional area of 1 mm? and a resistance of 4 Ohm.
Calculate the conductivity of the cable.

A) 4 MS/m B) 5MS/m

C) 12 MS/m D) 10 MS/m Downloaded from - www.exammix.com
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Answer Key : B Your Response : B (Correct)

Question No. 12

Afef@a 7 Fuil fr d&ar i vEr HifSw)
463,T|'J=rNatITJ=ITUg

A) 46 B) 12.044 x 1023

C) 46 x 6.022 x 1023 D) 6.022 x 1023

Calculate the number of particles in the following: 46 g of Na atoms.

A) 46 B) 12.044x1023
C) 46x6.022x1023 D) 6.022x10%3
Answer Key : B Your Response : Not Answered

Question No. 13

SATShIA T FSAT ATelehdl AT &7
A) 155 wm K- B) 11.3 wm K-’
C) 25 wm K- D) 20.7 wmK-"

What is the thermal conductivity of nichrome?

A) 15.5 Wm K" B) 11.3 wm k"
C) 25 wm 'K D) 20.7 wm K"
Answer Key : B Your Response : A (Wrong)

Question No. 14

A3 IdA <reT e [P O ¥ gefaa §7
A) dsfdes B) $edld
C) glehr D) e

Lady Ratan Tata Trophy is associated with which sport?
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00
C) Hockey D) Cricket
Answer Key : C Your Response : A (Wrong)

Question No. 15

H G H TH THRRR URT & FROT Tk Higed H del-cd & & & aReni¥q

T S &
A) 33T OT T I[N B) #R J[OTeh
C) 9T JAUIidw D) FT gafd gwich
is defined as weber-turns in one coil due to one ampere current in the other.
A) Coefficient of mutual inductance B) Load coefficient
C) Temperature coefficient D) Energy efficiency coefficient
Answer Key : A Your Response : A (Correct)

Question No. 16

7, W RfeEH w3 tRufes AAEE 3HTE S9nd Y TA9=r Fi

A) 1784 B) 1786
C) 1783 D) 1785
In_____, Sir William Jones set up the Asiatic Society of Bengal.
A) 1784 B) 1786
C) 1783 D) 1785
Answer Key : A Your Response : B (Wrong)

Question No. 17

1 emerse & S g Bl
A) 1024 freliarse B) 1024 AdMEsC
C) 1150 HMETSE D) 1391 AdMETSC
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1 gigabyte is equal to-

A) 1024 kilobytes B) 1024 megabytes
C) 1150 megabytes D) 1391 megabytes
Answer Key : B Your Response : B (Correct)

Question No. 18

Y& SISAT Felel (pure cosine function) FT r.m.s. AT FrcaTr gar 87?
A) TAET AT F 0.5 B) I

C) IRI&R AT & FHA D) fr@R #TeT &1 0.707

The r.m.s. value of pure cosine function is:

A) 0.5 of peak value B) Zero
C) Same as peak value D) 0.707 of peak value
Answer Key : D Your Response : C (Wrong)

Question No. 19

TH 220 V, 50 Hz AC T & ¥ 0% (B hae) AT &l
A) 1.11 B) 0.85
C) 0.95 D) 1.41

The form factor of a 220 V, 50 Hz AC waveform is-

A) 1.11 B) 0.85
C) 0.95 D) 1.41
Answer Key : A Your Response : A (Correct)

Question No. 20
gt A PieT T T AT aaRer & e 3R g¥ art Fr sweAer: geiiar &2
A) st AR 3eTH B) et 3R spufdar
C) sEUfehd 3R 3erdi D) e 3R sgafehd
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Which of the following indicates black and greéh'Wités'fé8pedtively it houisd Wiring? 21c!on "#pers

A) Phase and neutral B) Phase and earth
C) Earth and neutral D) Neutral and earth
Answer Key : D Your Response : D (Correct)

Question No. 21

I8 ufhar, O % Jrdares F it Aend e €, Fgelrcl &l
A) 39arg (Drift) B) fa&xur (Diffusing)
C) @ D) 9T (Mixing)

The process by which impurities are added to a pure semiconductor is called-

A) Drift B) Diffusing
C) Doping D) Mixing
Answer Key : C Your Response : C (Correct)

Question No. 22
e gar T R U g &7 7 A S W TF FHE F S Tl H5e] el 87
A) fereRtell CFaT B) & ferh

C) Aol WIS D) 3fig TFIRR

Who discovered that a current-carrying conductor would move when placed in a magnetic field?

A) Nikola Tesla B) Gustav Kirchhoff
C) Michael Faraday D) Andre Ampere
Answer Key : C Your Response : C (Correct)

Question No. 23

gEsuasiaT # AR traw i afd o= F AT, &7 FT 39T A E
A) a9y uadea ST (Special purpose B) swd
registers)

C) [@9w #AARY oliherT (Special memory D) her
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To increase the speed of memory access in pipelining, we make use of

A) Special purpose registers B) Buffers
C) Special memory locations D) Cache
Answer Key : D Your Response : Not Answered

Question No. 24

YA (SfARIST) T A AT 872
A) gelr B) od
C) sfaee D) HellH

What is the unit of illumination?

A) Henry B) Lux
C) Decibel D) Coulomb
Answer Key : B Your Response : B (Correct)

Question No. 25

AT Nehed Y A AMr AT B
A) TR B) dec
C) galll D) 3NH

Mutual inductance is measured in-

A) Ampere B) Volt
C) Henry D) Ohm
Answer Key : C Your Response : C (Correct)

Question No. 26
DC gic AT F 39T AHI: i frar Srar
INE T B) o #afeT
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DC shunt motors are commonly used in-

A) Cranes B) Lathe machines
C) Electric traction D) Elevators
Answer Key : B Your Response : B (Correct)

Question No. 27

DC #leX FT YadeT (Ferféan) wfarier aseaa: giar gl
A) oeTeTeT 1000 3N B) &
C) orerster 100 30 D) wga 3iftr

The starting resistance of a DC motor is usually-

A) Around 1000 Ohms B) Low
C) Around 100 Ohms D) Very large
Answer Key : B Your Response : D (Wrong)

Question No. 28

Had e W favg RaEw #aaa 2002 H 3mfaa A = o
A) 3TSIErT B) TdIgel
C) siieter D) &féyor 3nhreT

World summit on sustainable development was held in 2002 in-

A) Argentina B) Sweden
C) Brazil D) South Africa
Answer Key : D Your Response : Not Answered

Question No. 29

g@ter Rer (Buchholz relay) W TR g B
A) AT FHes BT B) 3feser e

Downloaded from
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Buchholz relay is installed on-

A) Oil cooled transformer B) Welding transformer
C) Furnace transformer D) Air cooled transformer
Answer Key : A Your Response : A (Correct)

Question No. 30
3M3eqe Rargw # 39T BFa e @ar 2

A) 3T B R T F R B) 3T # T a F v

C) &1 # e WA & D) 3aT w4 Bie I F WU

What is the use of output devices?

A) To store data B) To scan data
C) Toinput data D) To view or print data
Answer Key : D Your Response : D (Correct)

Question No. 31
# AUV IMHYOT T Fa HA FHET g1 ¢
A) TATSHT B) o ar

C) 4t D) gal

Intermolecular forces of attraction are least effective in-

A) Plasma B) Solids
C) Gases D) Liquids
Answer Key : C Your Response : C (Correct)

Question No. 32

5 kW, 50 Hz, 6-fte f¥era-Rar SRor e 960 RPM T Telelr &1 3Whr Jeramrenr (Risplerd) arfay
3R gfaea Raa #r aomET Fi)
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C) 1500 RPM, 4% D) 1000 RPM, 4%

A 5 kW, 50 Hz, 6-pole slip-ring induction motor runs at 960 RPM. Calculate its synchronous
speed and percentage slip.

A) 750 RPM, 2% B) 900 RPM, 5%
C) 1500 RPM, 4% D) 1000 RPM, 4%
Answer Key : D Your Response : D (Correct)

Question No. 33

ffaf@a F & fre gerd & 39l wer ofedie & &7 7 76 frar ST 82

A) TegAfATH B) dfer
C) e D) =idr

Which of the following materials is not used as fuse element?

A) Aluminium B) Copper
C) Carbon D) Silver
Answer Key : C Your Response : C (Correct)

Question No. 34

aftea afda iR smemd affT & rgara # 90T HET AT ¢
A) #R (Load) B) ofFd (Power)
C) &7 (Form) D) &7 (Demand)
The ratio of active power to apparent power is known as factor.
A) Load B) Power
C) Form D) Demand
Answer Key : B Your Response : C (Wrong)

Question No. 35

Downloaded from - www.exammix.com



s 3R i aEfT & day F ciEGRR R ENE GHger T ® SR G G
T, f3PEddl, Ni-Isad aEfEer & e i §&r gy &, No-QFsdr asfEer F = $ir &
g &, By~ Forad ST

A) Tawedl 7 & Y B) Ejq

4.44 f Ny op

C) E1 =444 f N1 BmAi D) E2

4.44 f Ny o

EMF equation of a transformer with respect to primary and secondary windings is
(where ¢y,-flux, f-frequency, N1-number of turns in the primary winding, N>-number of turns in

the secondary winding, B,-flux density)

A) All of the options B) E1=4.441fNq ¢,
C) Eq=4.44fNqByA D) Ep=4.44 1Ny o,
Answer Key : A Your Response : C (Wrong)

Question No. 36

fPrfafad & ¥ i @ 38 N vou 6 wE At F ¥ v §2

A) HeT G B) ®eT e
C) fameh =¥dr D) =®f¥epear w7y

Which of the following rivers is one of the major rivers in the state of Odisha?

A) Pamba River B) Soan River
C) Bhavani River D) Rushikulya River
Answer Key : D Your Response : B (Wrong)

Question No. 37

AR qeT § 9o 3fhaA ARFT (power) R TYIYA ORT IR Fo9dsT dlecs F OHADA &
3Tl Y FAT FgT AT 67

A) @R vt (Peak factor) B) &9 U (Form factor)

C) &1 Ut (Fill factor) D) RMS

The ratio of the maximum power from the solar cell to the product,of shert circuit, current,angd,
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open circuit voltage is known as-

A) Peak factor B) Form factor
C) Fill factor D) RMS
Answer Key : C Your Response : D (Wrong)

Question No. 38

9T oS AT ¥ wefta B
A) #RAT Rerd do &1 faRiy glaer B) saic & & (Deficit Budgeting)
C) #Har 31 o Taol Al A D) RIS Hel &IV gaRT gEicdie ddfeed

The term "Paper Gold" is associated with-

A) Special facility of the Reserve Bank of B) Deficit Budgeting

India
C) Currencies still in gold standard D) The assets transferred by the International
Monetary Fund
Answer Key : D Your Response : Not Answered

Question No. 39

FIaeT ANBFASS & X & ST | PieT AT YT TEl 87

A) fadedr & @ Tt B) ¥ SanRA Su«ll & 3AqUT &g &
IRUTHETERT 3c9e1 8IdT &l
C) I8 U giiuged I B D) Ig AWE & fav gifeRkfea &l

Which of the following statements about carbon monoxide is true?

A) All of the options B) It is the result of incomplete combustion of
fossil fuels
C) ltis a foul smelling gas D) Itis harmless to human beings
Answer Key : B Your Response : B (Correct)

Question No. 40

21188 a'? '\‘17:"35' ﬁ, ARC o) TT Y 1 %? Downloaded from - www.exammix.com
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A) wac Risec sedeiter B) wic Reegaled HFdsilo]
C) wic Rafeaeluerd Hedeirsl D) wde R#adl HFdsiel

In business terms, ARCs stand for-

A) Asset Rebuild Companies B) Asset Reconstruction Companies
C) Asset Reconciliation Companies D) Asset Recovery Companies
Answer Key : B Your Response : D (Wrong)

Question No. 41
fmfaf@a & & Fia A1 93 IeeTeeT 7 goeRie &F # ot §?
A) SER agfAeE sgaEdr B) 3mfR & AT 9§ Segoire
C) famfor & 3mamh D) fawedt 3 | el

Which of the following are the advantages of rotating field in large alternators?

A) Improved ventilation arrangement B) Better insulation to armature
C) Ease of construction D) All of the options
Answer Key : D Your Response : D (Correct)

Question No. 42

AC AR IRIYT #H, IA& ATET & dieesr 3N ORT & I Fr HIoT g1l
A) gl slgl ST bl B) et
C) A= D) =

N

In AC parallel circuit the angle between voltage and current of each branch will be

A) Cannot say B) Different
C) Same D) Zero
Answer Key : B Your Response : B (Correct)

Question No. 43

Tefhar thee (stacking factor) &l AT WA LG UK

wnloaded from - www.exammix.com
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A) Tehs F SN B) Tdhdh & 3

C) = D) Tehe & HA

The value of stacking factor is usually-

A) Equal to unity B) Greater than unity
C) Zero D) Less than unity
Answer Key : D Your Response : Not Answered

Question No. 44

Iy SAEHT YT FT FHATROT (equation ) 141.4 sin 314t §1 4T F RMS AW AR amgfeT
AT

A) 400 A 3k 200 Hz B) 100 A 3R .50 Hz

C) 300 A 3R 150 Hz D) 200 A 3R 100 Hz

If the equation of sinusoidal current is 141.4 sin 314t. Find the RMS value and frequency of the

current.

A) 400 A and 200 Hz B) 100 A and 50 Hz

C) 300 A and 150 Hz D) 200 A and 100 Hz
Answer Key : B Your Response : Not Answered

Question No. 45
i@ & ¥ frwt fafaer & sig #1 suer fFr siar 872
A) AT & (Underground cables) B) Wak araiar
C) TRMR @ms=t (Overhead lines) D) #sge araiar

In which of the following is a Britannia Tee joint used?

A) Underground cables B) Power wiring
C) Overhead lines D) Conduit wiring
Answer Key : C Your Response : A (Wrong)

Downloaded from - www.exammix.com
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R AfRT IFROT ¥ ey faRar ST |eRaT B
A) Fad DC Ryl o B) & # ¥ fordt ¥ & sigY
C) shael AC IRTUT WX D) AC 3R DC 9R9Y gl ©

The maximum power transfer theorem can be applied to-

A) DC circuits only B) Neither AC nor DC circuits
C) AC circuits only D) Both AC and DC circuits
Answer Key : D Your Response : D (Correct)

Question No. 47

MR 8 F W frely Sy arelr HEamsit @ & & % Feffepe fmar e B
A) dEdde &I B) gwarsf@dAer d&ar
C) 3¢ g&ar (Octal numbers) D) HUTlcH% T&AT

Numbers that are written with base 8 are classified as-

A) Real numbers B) Hexadecimal numbers
C) Octal numbers D) Negative numbers
Answer Key : C Your Response : C (Correct)

Question No. 48
eafaf@d & ¥ i A1 FyeT BOD & aX &F 7 &2
A) WI: COD & & B) 3mfirse St # HAlsg Fefeie ward @ A
C) SIREAe HiFeteT AT D) sedl & & i

Which of the following statements is CORRECT about BOD?

A) Usually less than COD B) A measure of the organic matter present in

waste water

C) Biochemical oxygen demand D) All of the options

Answer Key : D Your Response : NobAnsmRreédm - www.exammix.com
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Question No. 49

DC #rex fr aifar ¥ ITHARIIT gl ¥l
A) e 9fd ¢a B) #HIeX &I afa
C) 92g EMF D) 3THTR dTelehl hl T&AT

The speed of a DC motor is directly proportional to-

A) Flux per pole B) Speed of motor
C) Back EMF D) Number of armature conductors
Answer Key : C Your Response : A (Wrong)

Question No. 50
NPN gifores &, P &% & a1 Fgr Siar g2
A) TR B) s
C) holdex D). &d

In an NPN transistor, P region is called-

A) Emitter B) Base
C) Collector D) Source
Answer Key : B Your Response : B (Correct)

Question No. 51

& e WFew w7 33 F IGUR ARHAUN @RI T 3UGFd  sEFAfh
(earthed) f&aTer ST 3fAERT B

A) SIRAT faeggd @\ 1960 B) R faegd =9# 1956
C) ¥R faegd fagsr 1950 D) sk faegd fas 1966
Earthing Practice Rule 33 of makes it compulsory for licensee to maintain a

suitable earthed terminal.

A) Indian Electricity Rules 1960 B) Indian Electricity Rules 1956

Downloaded from - www.exammix.com
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Answer Key : B Your Response : Not Answered

Question No. 52

=faf@a & ¥ 59 aredier &1 39T Fad AC W Har Jrar 22

A) SSHUST TISY dTeHT B) S=AIAIY <BY  HTUSS-Hisd <
gredel

C) ST B9 [Uacs-disd SRRFCE- D) Soldeikcicad sy dlcHel
QST aresex

Which of the following type of wattmeters is used only on AC?

A) Induction type wattmeter B) Dynamometer type suspended-coil torsion

wattmeter

C) Dynamometer type pivoted-coil direct- D) Electrostatic type wattmeter

reading wattmeter

Answer Key : A Your Response : C (Wrong)

Question No. 53
dos dI15s B B AW-S134T (WWF-India) Fa TaiRia Brar r/r ar?

A) 1976 B) 1997

C) 1956 D) 1969

When was World Wide Fund for Nature-India (WWF-India) established?

A) 1976 B) 1997
C) 1956 D) 1969
Answer Key : D Your Response : Not Answered

Question No. 54
TARTRS Fael ___ T&T & AT 39T Bt B
A) FF 3R aw & H@US H T I3 ar B) arcieRor & &9 & 3T ared
C) 3T & T HS[E g § D) 8T 37 3R &% i@ FIm & www.exammix.com
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TRS cables on batten are suitable for places-
A) Not exposed to sun and rain B) Exposed to atmosphere
C) Fire hazard is present

Answer Key : A Your Response : A (Correct)

Question No. 55
AR # T ST 33T FU Fr Fver 9 §E A

B) 1602

A) 1600

C) 1705 D) 1664

When was the French East India Company founded in India?
A) 1600 B) 1602
C) 1705 D) 1664

Answer Key : D Your Response : D (Correct)

Question No. 56

Aea F TAT F AR, AE T F e g el

A) B)
_ Isc I. = Isc
IL_ LXR:int-l_Rmt - Riﬂt-l_Rim:
)] D)
R. R.
I :Ir.' W~ owmr . = ——"m¢
" R +R. * R_+R,

Downloaded from
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According to norton's theorem, the expression for load current 1s-

A) B)
_ I I. = Lsc
I_'_RLXR +ER. - R1111:-|-Rm1:
0) D)
R. R.
[ =1 x—= —_ imr
- = R +R L IL R i.111:+R L
Answer Key : C Your Response : Not Answered
Question No. 57
1N4007 ¥FewrRR s/ & PIV e frael g 82
A) 600 V B) 1000 V
C) 200 V D) 400 V
The PIV rating of 1N4007 rectifier diode is-
A) 600V B) 1000V
C) 200V D) 400V
Answer Key : B Your Response : C (Wrong)
Question No. 58
araRer fr Jee s [ & o F 30F Ferr adr 8
A) erard B) fastell &hr s

C) hedl &l FdTS D) &

Joint box wiring method might be cheaper with respect to-

Downloaded from - www.exammix.com
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BY" P8 Y &SR Question Fap

A) Cost wise wer'savin
C) Cable length D) Labour
Answer Key : C Your Response : B (Wrong)

Question No. 59

I el o AR IR & & v FAECR 90y Fr we &3 Siar &, dr $or gy
|

A) QW & ST § B) §i¢ ST &

C) AT WG & D) &< S &

If one of the parallel resistors in any parallel circuit is removed from the circuit, then the total

resistance-
A) Doubled B) Increases
C) Remains the same D) Decreases
Answer Key : B Your Response : D (Wrong)
Question No. 60
AC HafATe F@d: T gl
A) THITA-thal ST HIEI B) 3-thal WRUT AlX
C) fAadel HeX D) 2-%aT 9ROT Al

AC servomotor is basically a

A) Single-phase induction motor B) Three-phase induction motor
C) Universal motor D) Two-phase induction motor
Answer Key : D Your Response : C (Wrong)

Question No. 61

(M) SEIATT Y TF TR F AT (W) T FF FIT BN, 6T g THcarT caor g7

A) W=m-g B W=m/g

C) W=mxg D) W=m+g
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What is the formula for weight (W) of an object of mass(m) and where g is the acceleration due
to gravity?

A W=m-g B) W=m/g
C) W=mxg D) W=m+g
Answer Key : C Your Response : C (Correct)

Question No. 62

3-8 3T A5 &, YA el T AfFT IOIF (power factor) __ @ Bl
A) faglia REagsd B) & AT &I, [SHHT Fel AT Theh &I
C) R & wfoeT & D) f@e

In a three-phase unbalanced load, the power factor of each phase is-

A) Of opposite signs B) Of such value that the sum total is unity
C) Difficult to determine D) Different
Answer Key : D Your Response : D (Correct)

Question No. 63

et 3 & FFE 3UEROT T 3TANRT FEIT: T a9 Hagew AR aRr-aRE@HA (current-limiting)
3YEOT & §9 7 fHar Srar 82

A) NTC ufAex B) Rareee
C) weprer 3MTRa afekier (IoEeR) D) Wi afekiy (I™EeR)

Which of the following devices is primarily used as resistive temperature sensors and current-
limiting devices?

A) NTC thermistor B) Rheostat
C) Light dependent resistor D) Preset resistor
Answer Key : A Your Response : D (Wrong)

Question No. 64

AT IRINGET ARl ¥ et g B
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A) TR B)"did v P

C) PVC D) ofhst

Channel wiring material is made of

A) Rubber B) Metal
C) PVC D) Wood
Answer Key : C Your Response : C (Correct)

Question No. 65

T R e 1 1 Far gar &7
A) T B) ol
C) Jelrs DEGIC

The colour of the moist silica gel is-

A) Brown B) Yellow
C) Pink D) Red
Answer Key : C Your Response : C (Correct)

Question No. 66
ffaf@a & @ #la @ FRAT 9e &g AT 7 Bl &2

A) TS (¥) G & Jfe B) fewetiaw Ife
C) Taedr & & TalY D) T Ife

Which of the following errors occur(s) in a moving iron instrument?

A) Stray magnetic field error B) Hysteresis error
C) All of the options D) Temperature error
Answer Key : C Your Response : C (Correct)

Question No. 67

FeSO 4 #r mf #ter ™ uroa @Y arer IR+l & #2
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C) SO3 D) H,S

The gases obtained on heating FeSO4 are-

A) SOy B) Both SO, and SO3
C) SOj3 D) H»S
Answer Key : B Your Response : C (Wrong)

Question No. 68

R T FAST &
A) SeIReX B) AlX
C) SielRexX 3R 3MFeex D) AeX 3R SIAex gkl

Megger is a combination of-

A) Generator B) Motor
C) Generator and Ohmmeter D) Both motor and generator
Answer Key : C Your Response : C (Correct)

Question No. 69
v, @ iR IRAf@s ooy A&t @ &g e #
A) FAcH IR T B) wfaeuTdeT 9AT (Substitution Theorem)
C) dafaeT ya D) 3TEIRIIUT Y& (Superposition theorem)

theorem is applicable to both linear and nonlinear circuits.

A) Norton’s B) Substitution
C) Thevenin’s D) Superposition
Answer Key : B Your Response : D (Wrong)

Question No. 70
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A) ws-2feg B) PVC
C) I D) Scof

wiring(s) is/are used to draw TRS cables on teak wood.

A) Lead sheathed B) PVC
C) Cleat D) Batten
Answer Key : D Your Response : D (Correct)

Question No. 71

gg IRUY §, ST SPNT AT AC dees & gl 31 ekl (half cycles) T 39ler
F&F AC dicesT F TWeAR DC aieest & gRafda & &

A) BJT B) FET
C) Pl dd UFeHRR D) g% dd IJFCHRR
A is a circuit, which converts an AC voltage into a pulsating DC voltage using

both half cycles of the applied AC voltage.

A) BJT B) FET
C) Full wave rectifier D) Half wave rectifier
Answer Key : C Your Response : A (Wrong)

Question No. 72

ffaf@a # & R 3wisie (excitation) SoTelr #, AT 3o IR IIEE 3o AAF ar
3caoi gl &2

A) X B) e

C) DC D) T f% (Static)

Which of the following excitation systems have two exciters - the main exciter and a pilot
exciter?

A) Stator B) Rotor
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C) DC B Siafie Y Q P

Answer Key : C Your Response : C (Correct)

Question No. 73

S T 9T T W Ao ¢l
A) SATFCH A B) sdfdes g
C) zafdcsd e D) CrE®IFA

Joule's heating effect is undesirable on-

A) Electric iron B) Electric heater
C) Electric toaster D) Transformers
Answer Key : D Your Response : D (Correct)

Question No. 74
ffaf@d 7 ¥ Fia a1 ARET RBFrew g@rr Jg=T i I arelr FAT Jaw §?
A) Ff& T ga AT (Error detection) B) Wisel e AsliqelereT
C) W Taiagas (Program execution) D) faedt & & el

Which of the following is/are the common services provided by an operating system?

A) Error detection B) File System manipulation
C) Program execution D) All of the options
Answer Key : D Your Response : D (Correct)

Question No. 75

WOT AT (induction motor) 3 HifeeT fFAF FROT g &2
A) HIET H 3cUeeT 0T T (Harmonics) B) et alecsr 3mqfd

C) 3= iR D) &MT & g f3eisa

Crawling in an induction motor is caused by-

A) Harmonics developed in the motor B) Low voltage supply
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Answer Key : A Your Response : A (Correct)

Question No. 76

MS-a$ # 'Insert Hyperlink' SRIaifar afrer i @il & fAT fFw aiéwe Folr (key) & 3uhT
T Sirar &2

A) Ctrl + L B) Ctrl + Z

C) Ctrl + H D) Ctrl + K

What is the shortcut key to open the 'Insert Hyperlink' dialog box in MS-Word?

A) Ctrl +L B) Ctrl+Z
C) Ctrl+H D) Ctrl + K
Answer Key : D Your Response: Not Answered

Question No. 77

varey afy & AW &, afae Soi fFa Rufy # ~gFaw g &2
A) IRH foig W B) S#HIA WX dliced W
C) 3R¥ fag 3R 3zaaw §g gt D) 3=ddd fdg W

In case of a projectile motion, where is the kinetic energy minimum?

A) At the starting point B) On return to the ground
C) Both the starting and highest point D) At the highest point
Answer Key : D Your Response : D (Correct)

Question No. 78

gadel (Ferfeen) 3R Faree (@) F e TeR-Seer e i aEfEa AT &
3 e &l

A) 3eer IR TwR B) TR 3R TR

C) 3ear 3R Seer D) ¥R 3R Secl

Windings of star-delta starter while starting and during running are senneeted:in www.exammix.com
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connection.
A) Delta and star B) Star and star
C) Delta and delta D) Star and delta
Answer Key : D Your Response : A (Wrong)

Question No. 79

HAAIER Uih-hell fFH AR TsT W Heafod &2
A) IREH I B) AR

C) e D) @A

With which Indian state is Malabar cuisine associated?

A) West Bengal B) Manipur
C) Kerala D) Assam
Answer Key : C Your Response : C (Correct)

Question No. 80

1000 RPM T I ¢ T ¥ SRl W 3c0e~T fagye ams I« 100 V g1 3 oy #r sgre
1200 RPM X f&&1 ST, o 3cd9e=T EMF - fhc=Tr gom?

A) 120 V B) 240 V

C) 175 V D) 140 V

A shunt generator running at 1000 RPM has generated EMF of 100 V. If the speed increases to
1200 RPM, then the generated EMF will be-

A) 120V B) 240V
C) 175V D) 140V
Answer Key : A Your Response : Not Answered

Question No. 81

afg 10 pF F ofier FATeT Aoleha & 53 §U €, O I aIRar i Al

A) 3.33 uF B) 1.33 pF

Downloaded from - www.exammix.com



Visit-vaxw. mix.com & Download :-Railway & SSC Question Papers
C) 1.66 uF By 08 y Q P

If three 10 YF capacitors are connected in series, then the value of equivalent capacitance is-

A) 3.33 uF B) 1.33 pF
C) 1.66 pF D) 0.3 uF
Answer Key : A Your Response : A (Correct)

Question No. 82

SNares Seall & Sl & __ 3c9ed giel 8, ST 9 UGWOT Sl HRUT S&Idm ¢

A) Fgd AR IS AR B) 3caf&e gehrer

C) FsaT D) €31 3R Fells T

By burning of fossil fuels, ___is/are produced which cause(s) air pollution.

A) Lots of unwanted noise B) Excessive light

C) Heat D) Smoke and fly ash
Answer Key : D Your Response : D (Correct)

Question No. 83

fra art fr RRafS F1 gar NI aREAsT i A | AT ST vl 87
A) 9a drr B) 3w Herr

C) 34T AR T el HI aRT D) #@ifza

Which star can be located with the help of the Orion constellation?

A) Pole star B) Alpha centauri
C) The corner star of the Ursa major D) Sirius
Answer Key : D Your Response : D (Correct)

Question No. 84

A% 2019 & oRq 3R o sf3uet e #Ae (Indian chilli meal) F TRT F AT
Welhldl W gEAER fora|
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C) Ul D) 9Ter
India and signed a protocol for the export of Indian chilli meal in May 2019.
A) China B) Bangladesh
C) Japan D) Nepal
Answer Key : A Your Response : D (Wrong)

Question No. 85

Q A FE RAGiT W FH T g2
A) TaUThcd B) AR 3l
C) 3T YuT D) Ao 3ieferg

Q meter works on principle of-

A) Self inductance B) Parallel resonance
C) Mutual inductance D) Series resonance
Answer Key : D Your Response : C (Wrong)

Question No. 86

UF T faega unr & W F FROT Feford g gl
A) FeR-dega B) drdet
C) dahr D) Tt
A fuse operates due to the effect of electric current.
A) Electrostatic B) Heating
C) Magnetic D) Chemical
Answer Key : B Your Response : B (Correct)

Question No. 87

HEY ABF Pfafld # & rw @ F 3 87
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A) &R B)" dstHce

C) Pedld D) ¥

With which of the following sports was Sandeep Michael associated?

A) Hockey B) Badminton
C) Football D) Tennis
Answer Key : A Your Response : Not Answered

Question No. 88

ag g, o ¥ %R ¥GT (load line), Ig(sat) & wfaedfa e 8, T Fgelrar 87?

A) @e-30h feig B) f&audec dise (Quiescent point)

C) S&ar3 disc D) wqfea fog

The point at which load line intersects Ig(sat) (saturation value of base current) is called-

A) Cut off point B) Quiescent point
C) Breakdown point D) Saturation point
Answer Key : D Your Response : Not Answered

Question No. 89

<ol el 7 ¢l (poles) i FE&AT frcetr gl 87

A) 10 B) 6

C) 2 D) 8

The number of poles in a turbo alternator are-

A) 10 B) 6
C) 2 D) 8
Answer Key : C Your Response : D (Wrong)

Question No. 90

faega SwereRe & Fo A #@ e AR ¥ aedt F AT T 9U el F &
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faT T 39T RaT ST B v Q P

A) TaiRT (Capacitor) B) WIS
C) @ifeler U D) SR died
A/an ___ is used in electrical installation to join some conductors and provide different paths
for different conductors.
A) Capacitor B) Fuse
C) Ceiling rose D) Junction box
Answer Key : D Your Response : D (Correct)

Question No. 91
BJT gifaee & 3198y Wal (Boehere o) $ir sear frae gt 872
A) IR B) =

C) uiw D) a

The number of depletion layers in a BJT transistor is-

A) Four B) Three
C) Five D) Two
Answer Key : D Your Response : B (Wrong)

Question No. 92

gohrr qRudt & ary 3erer (air gap) #r @@$ # gy F Wy BT (fringing) @ weTTE
I

A) TR Ear & B) &edr &

C) Y= & STl & D) Sodm &

The effect of fringing with the increase in the length of the air gap in magnetic
circuits.

A) Remains constant B) Decreases

C) Becomes zero D) Increases
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Answer Key : D our Response

Question No. 93

ARl & FEIHA HieT g7
A) et forfaey B) @ieRI3 HIAT
C) T.R. Siferamr D) =ifthg Rar

a

Who is the present Chief Minister of Nagaland?

A) Shurhozelie Liezietsu B) Conrad Sangma
C) T.R. Zeliang D) Neiphiu Rio
Answer Key : D Your Response : C (Wrong)

Question No. 94

3&rieT (Neutral), R9Tr # 31 a5 =10 §, ST WA I QT dF a9 AT g
A) a7 B) eI
C) werFrd D) dreest
Neutral is a circuit conductor that normally carries back to the source.
A) Current B) Power
C) Flux D) Voltage
Answer Key : A Your Response : A (Correct)

Question No. 95

Jdedeliolh Selied I AFFT IoTh fohe T AR Far g2
A) #R (Load) B) &R griaar
C) 3R grferar D) X &t arfd

The power factor of synchronous generator depends on-
A) Load B) Core losses

C) Armature losses D) Speed of rotor

Downloaded from

- WWW.exammix.com



Visit-www.exammix.com & Download ;-Railway & SSC Question Papers
Answer Key : A our esponse:ﬂfﬂVrong?y Q P

Question No. 96

=T 9faer AEr T 3YANT TP FEhdl & AT ST FhaT gl
A) AR B) 3NH AIX
C) *fead sad oot D) HecHRT

Low resistance value can be measured accurately by using a/an-

A) Megger B) Ohmmeter
C) Kelvin double bridge D) Multimeter
Answer Key : C Your Response : D (Wrong)

Question No. 97

SCR#¥ _____ PN i g €I
A) 3 B) 4
C) 2 D) 5
An SCR has PN junctions.
A) 3 B) 4
C) 2 D) 5
Answer Key : A Your Response : C (Wrong)

Question No. 98
frfaf@a @ ser 3R Tt fr e 7 frwer e gaeeT 87
A) WfSH - HERISE B) TR - el
C) #HgT I - AU D) =rér - fgATEer yeer

Which of the following pairs of folk dance forms and states is NOT matched correctly?
A) Lezim — Maharashtra B) Ghoomar — Kerala

C) Maha Rasa — Manipur D) Nati — Himachal Pradesh
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Answer Key : B our Response 'B f&dorrec‘ﬁy Q P

Question No. 99

forelr gofdesd T A 60 e aF 3 @A W Ig 230 V faggd 3mqfct 7 & 5 MJ 3 =19
T g1 AfFa (power) T F

A) 1389 W B) 1772 W

C) 1500 W D) 1823 W

An electric stove consumes 5 MJ of energy from a 230 V power supply when turned on for 60
minutes. Find the approximate power.

A) 1389 W B) 1772 W
C) 1500 W D) 1823 W
Answer Key : A Your Response : C (Wrong)

Question No. 100

T REw a1 Fal Fua 87
A) FET g B) IR
C) #RTS D) IrEdT

Where is the Guru Shikhar peak located?

A) Madhya Pradesh B) Gujarat
C) Maharashtra D) Rajasthan
Answer Key : D Your Response : D (Correct)

Question No. 101

Yeraat Uiy Fir ngfea w=ar gl 87
A) 5T 1fd § eciaeX Teldm g B) wfd A%hs & fe=m gchAvll dr Feea|
C) ufa fAste qut =ehi & Fear| D) wfd @hs qul =i I HE|

The frequency of an alternating quantity is-

A) The speed with which the alternator runs B) The number pf, direction. reversalsmipem
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C) The number of cycles completed per D) The number of cycles completed per

minute second

Answer Key : D Your Response : Not Answered

Question No. 102
Faugad Fac F IHENT AR F ¥ Rrw srguier #F R S 82
A) &ehgs deot argRET B) e UIéde 3Tl
C) AT arafier D) faeRUT 322 & v AT Jorrelr

In which of the following applications is armoured cable used?

A) Teak wood batten wiring B) Domestic portable appliances
C) General wiring D) Underground systems for distribution
purpose
Answer Key : D Your Response : D (Correct)

Question No. 103

ORT F JtEa A, Fr 4R A FEr F e F W e g B

A) T gfaer s I B) &Y diecsl &l AT

C) &8 YRT &7 Irer D) @ amr 3R dtecst &r IreT

The average value of the current is the divided by the number of currents.

A) Sum of all resistances B) Sum of all voltages

C) Sum of all currents D) Sum of all currents and voltages
Answer Key : C Your Response : B (Wrong)

Question No. 104

TS g Yolfar #r faffier et & @ & e Hestar el ST ¢l
A) uiRfEufaehr fafaerar (Ecosystem diversity) B) Sig fafawuar (Bio diversity)
C) wonfa fafawdar (Species diversity) D) 3meIafrer fafaerdr (Genetic diversity)

Downloaded from - www.exammix.com



Visit-www.exammix.com & Download :-Railway & SSC Question Papers

Genetic variation between distinct populations of the same species is known as-

A) Ecosystem diversity B) Bio diversity
C) Species diversity D) Genetic diversity
Answer Key : D Your Response : D (Correct)

Question No. 105

T ¢ 91T (q[9) H, gl & fAaal & & dieesr 319 & AT 397 & foree Rre giar 872

A) T B) ©RNU 3T dledsl & 3TY

C) oMU 91T dledsl & ar =t D) SFNUT T drecs

In a closed loop, the sum of voltage drops across components is equal to-

A) Zero B) Half the applied voltage
C) Twice the applied voltage D) The applied voltage
Answer Key : D Your Response : A (Wrong)

Question No. 106
TR & 3ET A & AU F U T AT & e Bew gard ST R S 7
A) fafdesr Ser B) wifsad faferhe
C) aifsax FeiRkiss D) HIW Tethe

What is the material used inside the breather to prevent moisture entering the transformer?

A) Silica gel B) Sodium silicate
C) Sodium chloride D) Copper sulphate
Answer Key : A Your Response : A (Correct)

Question No. 107

frelr g W o degd &7 # By fFl g W W 0 v gaicqs 3T |
WA S g F §T F aRenfa B s §

A) YT FIFH Helcd B) degd cfrerdr
C) aafﬂa' el d D) dlecst e Downloaded from - www.exammix.com
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at a point is defined as the force experienced per unit positive charge at a point

placed in the electric field.

A) Magnetic flux density B) Electric intensity
C) Electric flux D) Voltage rating
Answer Key : B Your Response : Not Answered

Question No. 108

AN F EMF Fg X AR &ear &7
A) drel $r gEr B) THAGIAR Ul & gEam

C) Worard ufd ate D) fasedt # & @afY

The EMF of a generator depends on-

A) Number of poles B) Number of parallel paths
C) Flux per pole D) Allof the options
Answer Key : D Your Response : D (Correct)

Question No. 109

U acd H Soacied 9eard 2, 8, 8 §1 I7 g wig & wefea &2

A) 16 B) 8

C) 18 D) 17

The electronic configuration of an element is 2, 8, 8. It belongs to group-

A) 16 B) 8
C) 18 D) 17
Answer Key : C Your Response : A (Wrong)

Question No. 110
e o7 &1 Fek TR 397 (CRI) Hafeasw @ar 87
A) FARIET B) dmadrea (Incandescent)
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Which lamp has the best Colour Rendering Index (CRI)?

A) Fluorescent B) Incandescent
C) LED D) High pressure sodium vapour
Answer Key : B Your Response : B (Correct)

Question No. 111

AEHET AT Tl &
A) Tawedl &7 & Y B) dleeal
C) oRT D) ufarrer

A multimeter can measure-

A) All of the options B) Voltage
C) Current D) Resistance
Answer Key : A Your Response : A (Correct)

Question No. 112

SerEar Rfas ¥ foT 3T
A) SAEET g eI Pl heFd HA B) SEEAT & Y-feiar faeROT &l ehehed et
C) Hcg X g D) SeH &I &l galfel

Population pyramids are useful to-

A) Express the population growth rates B) Express the age-sex distribution of a
population
C) Indicate the death rates D) Indicate the birth rates
Answer Key : B Your Response : A (Wrong)

Question No. 113

73 & S fAwqor =T 87
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C) 1001001 D) 1001111

What is the binary representation of 737?

A) 1001100 B) 1001101
C) 1001001 D) 1001111
Answer Key : C Your Response : C (Correct)

Question No. 114

fmfaf@a & & i a1 #Ra i gger 3D Mes egH=iss e 82

A) INDRO B) MANAV

C) DAKSH D) KEMPA

Which of the following is India's first 3D printed humanoid robot?

A) INDRO B) MANAV
C) DAKSH D) KEMPA
Answer Key : B Your Response : B (Correct)

Question No. 115

AT el T Pl TT ART, I Hr eafar Jgor FaT &7
A) O B) ufead
C) Rt D) g

Which part of the human ear collects sound from the surroundings?

A) Pinna B) Anvil
C) Stirrup D) Hammer
Answer Key : A Your Response : B (Wrong)

Question No. 116

eelaied W R 6o W 3R ufafhar Fr gaTfad Fr gl
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C) R & mgfea D) ef#ser dieca
The armature reaction affects the when the load on an alternator is increased.
A) Rotor speed B) No load losses
C) Frequency of armature D) Terminal voltage
Answer Key : D Your Response : C (Wrong)

Question No. 117

ST R $r Aerg F At S #
A) fAeNHRT B) sdior
C) Fdrefex D) sfeqel 1S

Ozone layer thickness is measured in-

A) Millimetre B) Decibels
C) Centimetres D) Dobson Units
Answer Key : D Your Response : D (Correct)

Question No. 118

qgeashifars aIfd (synchronous speed) T &dsish g, S8l Ng-Jegeifae afq, f-3mgfed, P-
et $r wEr gl

A) Ng = 120Pf B) Ng = 120f/P

C) Ng = 120P/f D) Ng = 120/Pf

The expression for synchronous speed is where Ng-synchronous speed, f-

frequency, P-number of poles.

A) Ng = 120Pf B) Ng=120f/P
C) N = 120P/f D) Ng = 120/Pf
Answer Key : B Your Response : B (Correct)
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No. 119 v P

Question
DPIC f¥a=r & qUT ®9 T 87

A) fSce dier 3R Fols Raa B) 3 Uidl 3RRA Fols Taa
C) 3T Wl FsRIT N Fa D) 3gel %ol 3R Fols Fa

What is the expansion of DPIC switch?

A) Digital Pole Iron Clad Switch B) Double Pole Iron Clad Switch
C) Double Phase Induction Core Switch D) Dual Phase Iron Clad Switch
Answer Key : B Your Response : D (Wrong)

Question No. 120

eIy T Yat i F&Ar A TGHa e Bl
A) 3ol gal @1 HeT B) faz=or dust $r dear

C) cferol ¢af $r dear D) facgd R quent dr g

The number of magnetic starter poles refer to the-

A) Number of north poles B) Number of control contacts
C) Number of south poles D) Number of power load contacts
Answer Key : D Your Response : C (Wrong)

Question No. 121

IT TF HecwieX aERa fr warst R (fractional pitch) 5/6 &, oF @ger W7 faafr
@ Bl

A) 180 B) 60

C) 300 D) 150

If an alternator winding has a fractional pitch of 5/6, the coil span is degrees.

A) 180 B) 60

C) 300 D) 150
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Answer Key : D our'ﬂesponse : ?{ f@v rong3y Q P

Question No. 122

eafar wguor % el & HJAR AT STl g
A) dr€ B) UrEhel
C) &l D) sf@se

Noise pollution is measured in terms of-

A) Watt B) Pascal
C) Hertz D) Decibel
Answer Key : D Your Response : D (Correct)

Question No. 123

fifaf@a & & #ls a1 v 31¢F (attack) &, TTH 3TAFERAT A IEIR™>T ART 7 AT ureT
glaT 872

A) %I B). EAfha
C) sHa §&a (Email bomb) D) o1 T@ie

Which of the following is an attack in which the user receives unwanted amount of e-mails?

A) Spoofing B) Smurfing
C) Email bomb D) Ping storm
Answer Key : C Your Response : Not Answered

Question No. 124

e F gaAen gl =nfgu
A) fawT gfarie B) 3Td dlecot
C) faFeT dleca D) 3=a gfauy

Ammeter should always have a-

A) Low resistance B) High voltage
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C) Low voltage

Answer Key : A Your Response : C (Wrong)

Question No. 125
f=faf@d & @ 79 dgae o e fFhe & 500 ¥ 3fes e AT 82
A) ToleT HAFIT 3R Har areer B) &I 37 3R Hcalr aredr
C) T 3a#A AR RTs gseir D) R@g gsel 3 Faed Hemarm

Which of the following bowlers has/have taken more than 500 wickets in Test Cricket?

A) Glenn McGrath and Courtney Walsh B) Wasim Akram and Courtney Walsh
C) Wasim Akram and Richard Hadlee D) Richard Hadlee and Glenn McGrath
Answer Key : A Your Response : Not Answered

Question No. 126

gfaerY efed (Reverse power) &I 39T H fhar Sirar 1
A) 3cTCsT hegl B) URWUT gl
C) Twwis D) =X faege 3mferit

Reverse Power flow relays are used for the protection of

A) Generating stations B) Transmission stations
C) Transformers D) Domestic power supplies
Answer Key : A Your Response : D (Wrong)

Question No. 127
W 3R F AT A Aefaf@d & @ fre araRer gomel &1 39T R ST 82
A) ois-efizg B) #sgc

C) dea D) &Ryer

Which of the following wiring systems is normally used in domestic purposes?

A) Lead Sheathed B) Conduit
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Answer Key : B Your Response : B (Correct)

Question No. 128
gt W FreRT 39T R e vard it 917 e & faw frar Srar 87
A) dresier B) Solfdesd AR
C) soi=X D) safdce el

Which of the following is used to heat a liquid substance?

A) Soldering B) Electric iron
C) Blender D) Electric kettle
Answer Key : D Your Response : D (Correct)

Question No. 129

q¢ THATT IR Aorel, T R FT AT PF @ § g glAASa w0 foar ser afike, a8
leT A 872

A) @sgC HEles AR B) dead araRar

C) wFeile araier D) #sgc ¥hd araiar

Which of the following types of wiring are aesthetically appealing?

A) Conduit concealed wiring B) Batten wiring
C) Cleat wiring D) Conduit surface wiring
Answer Key : A Your Response : D (Wrong)

Question No. 130

afaf@a & & g 3cad 9ur T 39T FAr Srar 87

A) SIET ST FT 3TST B) sfe¥e &r mgar
C) Ratey AW D) aTgel &l gsellsc

In which of the following is a convex mirror used?
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C) Rear-view mirror D) Vehicle's headlight

Answer Key : C Your Response : B (Wrong)

Question No. 131

ffaf@a F ¥ Sl a1 TCP/IP Wi 1 =R (layer) &l &7
A) YSiceleT oI (Presentation layer) B) gr@dic o} (Transport layer)

C) ToellheleT o3 (Application layer) D) &= oW (Internet layer)

Which of the following is NOT the layer of TCP/IP protocol?

A) Presentation layer B) Transport layer
C) Application layer D) Internet layer
Answer Key : A Your Response : Not Answered

Question No. 132

AC aRuy #r dua afea fras grr 872
A) VI Sin?® B) VI Cos®

C) VI Sin® D) =%

What is the average power of an AC circuit?

A) VI Sin*® B) VI Cos®
C) VI Sin® D) Zero
Answer Key : B Your Response : B (Correct)

Question No. 133

IEs WHER A FI TS oy g AT B 21

A) TBaifAst oSy #AGel (Siamese fighting B) ##HT & (Common Carp)
fish)

C) ardr (Guppy) D) 3cciY urgsh (Northern Pike)
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A) Siamese fighting fish B) Common Carp
C) Guppy D) Northern Pike
Answer Key : A Your Response : Not Answered

Question No. 134

SHA9H s/ s & faw & et (knee voltage) fheteTr giar 872
A) 0.3V B) 0.1V

C) 0.7 V D) 0.8 V

The knee voltage for a germanium diode is-

A) 0.3V B) 0.1V
C) 0.7V D) 0.8V
Answer Key : A Your Response : C (Wrong)

Question No. 135

T WEerRR % v ~Jead feder SIS &1 aedshdr gl &7

A) [T B) IR

C) ar D) ©8

The minimum number of diodes needed for a bridge rectifier is-

A) Five B) Four
C) Two D) Six
Answer Key : B Your Response : B (Correct)

Question No. 136
YRt A FAFCR F7 7 =t Ser ST 82
A) E&IaT o & forw B) ©RT &HAT Jg & oI
C) drecst e sga & faw D) deRat &1 Sfiiastera sge & forw
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Why are batteries connected in parallel?

A) To increase the efficiency B) To increase the current capacity
C) To increase the voltage rating D) To increase the life of the batteries
Answer Key : B Your Response : C (Wrong)

Question No. 137

4% CaOCl, T HHART A T 872
A) creiRe 3 B) SfSer AT
C) ¢raeT |rsT D) sellf<iar 91383

What is the common name of the compound CaOCl,?

A) Tartaric acid B) Baking soda
C) Washing soda D) Bleaching powder
Answer Key : D Your Response : D (Correct)

Question No. 138
T arsfser fores T H&ar 7 Foic AR AT @ §, __ FeT i gl
A) B T argfsar (Full pitch winding) B) &deccs arsfser (Concentrated winding)
C) ¢ = asfser (Short pitch winding) D) f3¥disges arsfsar (Distributed winding)

A winding which has equal number of slots and poles is called-

A) Full pitch winding B) Concentrated winding
C) Short pitch winding D) Distributed winding
Answer Key : B Your Response : A (Wrong)

Question No. 139
T 3Tl 3T §, S T SRS 3R & gifeey Y aRE 1 e Bl

A) MOSFET B) TRIAC

C) UJT D) DIAC
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A semiconductor device which acts like a diode and two transistors is-

A) MOSFET B) TRIAC
C) UJT D) DIAC
Answer Key : B Your Response : Not Answered

Question No. 140
% &g i gt 3R raae qdor & ofF A gt 20 JW §, o qdor Hr wEwd G =T T2
A) -8 T B) -10 J=&
C) -14 ¥ D) -20 TT

If the object distance and the image distance from a concave mirror is -20 cm, what is the focal

length of the mirror?
A) -8cm B) -10 cm
C) -14cm D) -20 cm
Answer Key : B Your Response : Not Answered

Question No. 141

AT frsr Y o5 AB & v FIGT AR orow ¥ 3 faT AD F 500 pF F U HeTw AR
o § AR g6 ooy gifer gl &1 s[ar BC % 300 ohm F IRy wfeer oam 8, S& e
HJforT @iar &, o 8[s CD 7 .0.148 pF Fr aRar & FAEICR HH & 72.6 3T 1 FioRE ow
1 3mqfct Fr 3mgfca 50 Hz &1 3rard emRar ard hifwl

A) 0.121 pF B) 0.421 pF

C) 0.321 pF D) 0.221 pF

A condenser brushing forms arm AB of a Schering bridge and a standard capacitor of 500 pF
and negligible loss forms arm AD. Arm BC consists a non-inductive resistance of 300 ohm,
When the bridge is balanced, arm CD has resistance of 72.6 ohm in parallel with a capacitance
of 0.148 uF. The supply frequency is 50 Hz. Calculate the unknown capacitance.

A) 0.121 pF B) 0.421 uF

C) 0.321 uF D) 0.221 pF

Answer Key : A Your Response : . (Wreng)
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Question No. 142

A FT YA (Tellegen’s theorem) W A & 8l
A) Sea iR Ifha acash B) fasreul & & el
C) feeeha 3R Ala-ffecRe sicash D) @& 3k R-iTWF Acas

The Tellegen’s theorem can be applied to-

A) Passive & active networks B) All of the options
C) Hysteric and non-hysteric networks D) Linear & non-linear networks
Answer Key : B Your Response : Not Answered

Question No. 143

ey aRaYr & SR SRiIE T FARE g g Bl
A) UsTcHS HTAAT B) 9T AT
C) sof & D). 37 3fF=a

The connection of a Zener diode in a circuit is always-

A) Positively biased B) Reverse biased
C) In series D) Forward biased
Answer Key : B Your Response : B (Correct)

Question No. 144

$ERI AT e RAgid W FH F 82
A) TEITASR IHATT B) oI wara
C) faegd grarehrd WRoT D) feR-faega wsta

Induction motor works on the principle of-

A) Chemical effect B) Heating effect
C) Electromagnetic induction D) Electrostatic effect
Answer Key : C Your Response : C (Correct)
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Question No. 145

40 T TS F TS e B &7
A) 0.6 #hex B) 1.5 #ex
C) 2 #ex D) 1.2 #ex

What is the length of a 40 watt tube?

A) 0.6 m B) 1.5m
C) 2m D) 1.2m
Answer Key : D Your Response : Not Answered

Question No. 146
aRay e (A a) AHAIT: Fd SAIfad elar &7
A) Sia o oisel & HIs Jfe gl § B) I fdege e & el g
C) o« T&aw &1 3 fFIT ST &Y D) ST 3sT T UA&ToT foham ST &l

A circuit breaker normally operates-

A) Whenever a fault occurs in the line B) When the power is to be supplied
C) When the switch is to be put on D) When the line is to be tested
Answer Key : A Your Response : A (Correct)

Question No. 147

ST § FiT A ST wguoT 1 IN-Rig A §7
A) SR B) gl vd 3uAeIT iR
C) fasedl & & Tl D) #Heloldl 39dR T

Which of the following is a nonpoint source of water pollution?

A) Factories B) Urban and suburban lands
C) All of the options D) Sewage treatment plants
Answer Key : B Your Response : C (Wrong)
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fmfaf@a & @ Sl ar $AT T T TG IwT g2

A) www.nameofwebsite.com B) name@website.com

C) name.website..com D) name@website#info

Which of the following is a correct format of an Email address?

A) www.nameofwebsite.com B) name@website.com
C) name.website..com D) name@website#info
Answer Key : B Your Response : B (Correct)

Question No. 149

e erqu, enqg AR 3rrg 1 FShT sor, g A1 ar § HfOw arEit F e @ §1 dest

$r e aqg #
A) @5 3R drer B) o5 3R
C) a8 3R fea D) o 3k @fzTs

Solder is an alloy of-

A) Lead and copper B) Lead and silver
C) Lead and tin D) Lead and sodium
Answer Key : C Your Response : C (Correct)

Question No. 150

R/ & YaFed & Ve Rgid & AR, o« Bl gehr g A gafa R a8, ar
FHF IR W # gl AT g

A) FATATAR 3@T B) el @
C) gcdlR @l D) aei Y@r

According to weber's molecular theory of magnetism, when a magnetic material is magnetised,
its molecules are forced along a

A) Parallel line B) Straight line
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C) Circular line

Answer Key : B Your Response : C (Wrong)
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